) TEERE 2HER
ME ‘ : &
AEY OO RERE

RO DRER 2 KD 72 S o

@
4cm
¢ 6cm
v
@
6cm
® 9cm

3cm

BIREE - T OERT D> O0— R NE [BHDY KU THE  https://www.okadori.net

©HHDYRUIL



W TERR 2R
;F E A A
AT EEOREE

RO DRER 2 KD 72 S o

© R 80 7 cm?’
4cm 5 BIERE X 6% (271 X4) =48 7 cm?
cm
______ JEHEEIX n x4°=16ncm’
w KWL 487 +16 7 X2=80 7 cm?
@ 10cm 110 7 cm?’

HIEREIX 6% (21 X5) =60 7 cm?
5em e JEEfEIX 1 x5°=257cm’
------------------------- KEMEIX 60r +257 X2=1107 cm®

9em 72 7 cm’

BIEREILX 9X (27 X3) =54t cm’®
JEHREEIX 7 X3°=9 1 cm’
N REFEIX S4n +97 Xx2=T2ncm’

3cm

RBREE - B O\ERT D> O0— R4 NI [BHDY R TRER  https://www.okadori.net © HHH R



